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This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries

1‘0 marks and mayf-have a;.b, ¢ as sub questlons

(25 Marks)

State Sampling theorem. 2]
Mention the merits of DPCM. [3]
Define ASK. W e P A . o [2].
What'is meant by»DAPSK? _____ o A
/Whiat'is intersymbol‘iriterférencein seband bmary AM. systems"’ e [2]
What is the necessity of adaptive equalization? 31

What is meant by systematic and non-systematic codes? [2]
What is meant by linear code?

Define spread spectrum communication.

What is frequency hop spread spectrum modulat10n‘7

(50 Marks)

Draw the block diagram of digital communication system and explain each block in

detail.
Mentlon the advantages of dlgltal communication over analog communication.  [5+5]
OR e et i

Explam the term, quantlzation

“Find the 6utput $ignal power due’ toq quantlzatlon Hoise'in PCM system [5i+5]""'

Explain with neat diagram BFSK transmitter and receiver.

Give a comparison between FSK and PSK schemes. [6+4]
OR

Explam coherent ASK _and non coherent ASK schemes e,

Explam how the re51dual effects ofthe channel are respon51ble for ISI
Explain about three tap reset equalizer. [5+5]
OR

What is nyquist pulse shaping‘7
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[5+5]




8.a) What is a convolutional code? How is it generated?
b)  Explain in detail convolutional coder with a suitable example. [5+5]

' C6 d1+d2+d3
C7=d1+d3+d4
C8=d2+d3+d4
Where dl, d2, d3 and d4 are message bits. Find
a) The generator matrix and parity check matrix for this code.
b) The mjmmum_w 1ght of this code S o

e ""iO.a) "":Draw the block dlagram of a spread spectrum system '

b) Explain Frequency hopping spread spectrum. [5+5]
OR
( 11.  Explain PN sequences generation and characteristics. [10]

{ =-000006---




